
ZRE4VP >
47250

Nein Ja

MVSP

ZRE4VP
47250

Nein Ja

VSP3 = PKPV
* 12 / 100

Nein Ja

STKL = 6

PKV = 2

Nein JaPVS = 1

VSP3 = VSP3
- ZRE4VP *

(KVSATZAG +
PVSATZAG)

Nein JaPVS = 1

Nein Ja

PVSATZAN =
PVSATZ AN +

0,0025

PVZ = 1

VSP3 =
ZRE4VP *

(KVSATZAN +
PVSATZAN)

Nein JaPKV > 0

KVSATZAN 
0,079

PVSATZAN
0,01025

PVSATZAN
0,01525

VSP = VSP3 +
VSP1

ENDE

Euro

PVSATZAG
0,01025

PVSATZAG
0,00525

KVSATZAG
0,07 0

VSP3

Vorsorgepauschale
(§ 39b Absatz 2 Satz 5 Nummer 3
EStG) Vergleichsberechnung zur
Mindestvorsorgepauschale
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